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This question paper consists of 7 printed pages.

Answer all questions. For
Examiner's

Use
Your answers should be:

e written in your own words as far as possible. Where you select the appropriate material

from the passage for your answer, you must still use your own words to express it.
e written in continuous prose.

From Passage 1

1 What does the author mean by ‘the shoe has dropped’ (line 1)?

2  Explain the author’s use of the phrase, ‘The glass is at least half full.’ (lines 6-7).

3  What are three reasons the author argues that lower birthrates might not be completely
negative in paragraph 37?




4  According to the author, how does the increase in life expectancy ‘reshape lives and g’(;mmer,s

open up opportunities’ (line 19)? Use

5 From paragraph 5, what is the author suggesting about the impact of having more
people on the planet?

6 What is the author implying about policies to raise fertility by using the phrase ‘birth
machines’ (lines 31-32)?




For

From Passage 2 ILEJ);zminer’s

7 Summarise the drivers of the great fertility slump.

Write your summary in no more than 120 words.




From all the passages
Passage 1 states that ‘but the alarmist warnings are often simplistic and premature’ (line 6).

Identify one specific idea from Passage 3 which can be used to undermine this statement.
Justify your answer.

Passage 2 states that ‘rearing children gets short shrift because people pursue other, more
individualist aims.’ (lines 10-11).

Identify one specific idea from Passage 3 which can be used to support this statement.
Justify your answer.

For
Examiner's
Use



10 The reading passages cover a range of views about population decline. Ef(;mmer,s

Use
How far do you agree that we need not worry about population decline?

Support your answer with reference to:
. the ideas and opinions from at least one of the reading passages
. examples drawn from your own experience and that of your society.
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